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�DеEтупле=8O пDот86 687=8, 7доDо6LO, поло6о9 =епD8коE=о6е==оEт8 8 поло6о9 E6о5одK 
=еEо6еDHе==олет=8E O6лONтEO о5IеEт6е==о оп4E=K< O6ле=8е< 8 пDедEт46лONт Eо5о9 од=у 87 
=485олее оп4E=KE DоD< 4=т8EоF84лL=о7о по6еде=8O, 8 д4==K9 те78E =е тDе5ует оEо5KE 
док474телLEт6.  
�Dед, пD8G8=е==K9 Dе5е=ку 6 Dе7улLт4те =4E8лLEт6е==KE пDеEтупле=89, пD86од8т к откло=е=8O< 
6 =D46Eт6е==о< 8 пE8EоD878GеEко<  D4768т88 =еEо6еDHе==олет=8E 8 пDедEт46лOет у7Dо7у длO е7о 
5удуIе7о. 
 е7улLт4т86=оEтL пDедупDе6де=8O 8 пDоD8л4кт8к8 пDеEтупле=89 пDот86 поло6о9 E6о5одK 
=еEо6еDHе==олет=8E 6еEL<4 E8лL=о оEло6=OетEO <=о6еEт6о< о5EтоOтелLEт6, EDед8 =8E: 
- оEо5е==оEт8 оD74=87<4 =еEо6еDHе==олет=8E – 8E пE8Eоло78O 8 D878оло78O. �ет8 74G4EтуN пDоEто 
=е 6 EоEтоO=88 оEо7=4тL, Gто =4д =8<8 5Kло Eо6еDHе=о =4E8л8е, л85о EкDK64Nт Mто 6Eе<8 
6о7<о6=K<8 EпоEо54<8, 5оOEL отD8F4телL=о9 Dе4кF88 Eо EтоDо=K Dод8теле9 8 дDу78E 5л87к8E 
л8F.  
-пDO<4O 7468E8<оEтL потеDпе6H8E =еEо6еDHе==олет=8E от пDеEтуп=8к4. !у5JектK пDеEтупле=8O 6 
Mто< EлуG4е <о7ут 6KEтуп4тL 5лок8DуNIе< D4ктоDо<  - 8EполL7о64тL 6Eе 6о7<о6=Kе EDедEт64 длO 
то7о, Gто5K о пDеEтупле=88 =8кто =е у7=4л. 
!екEу4лL=ое =4E8л8е - лN5о9 ко=т4кт 8л8 6748<оде9Eт68е <е6ду Dе5е=ко< 8 Gело6еко<, Eт4DHе 
е7о по 6о7D4Eту, 6 котоDо< Dе5е=ок EекEу4лL=о Eт8<ул8DуетEO 8л8 8EполL7уетEO длO EекEу4лL=о9 
Eт8<улOF88. Это: 
•         л4Eк4 8 тDо74=8е 74пDет=KE G4Eте9 тел4, MDот878Dо64==4O 745от4; 
•         де<о=EтD4F8O поло6KE оD74=о6, 8EполL7о64=8е Dе5е=к4 длO EекEу4лL=о9 Eт8<улOF88 
67DоEло7о (D476D4т=Kе де9Eт68O); 
•         87=4E8ло64=8е 6 о5KG=о9 DоD<е, оD4лL=о-7е=8т4лL=K9 8 4=4лL=о-7е=8т4лL=K9 ко=т4кт; 
!екEу4лL=4O MкEплу4т4F8O - поD=о7D4D8GеEк8е Dото7D4D88 8 D8лL<K E уG4Eт8е<  детL<8, 
пDоEт8туF8O. 
!ледует от<ет8тL, Gто у7оло6=Kе дел4 д4==о9 к4те7оD88 O6лONтEO 6 Eоот6етEт688 E у7оло6=о-

пDоFеEEу4лL=K< 74ко=од4телLEт6о< дел4<8 пу5л8G=о7о о568=е=8O, т.е. 6о75у6д4NтEO 
=е7468E8<о от =4л8G8O 74O6ле=8O потеDпе6Hе9 (потеDпе6Hе7о) 8 =е подле64т пDекD4Iе=8N 6 
EлуG4е пD8<8Dе=8O EтоDо=. 
� у7оло6=о< 74ко=од4телLEт6е д4==Kе 68дK пDеEтупле=89 6Kделе=K 6 отделL=уN 7л46у №18 
«�DеEтупле=8O пDот86 поло6о9 =епD8коE=о6е==оEт8 8 поло6о9 E6о5одK». 
�485олее G4Eто =еEо6еDHе==олет=8е пD87=4NтEO потеDпе6H8<8 пD8 D4EEледо64=88 у7оло6=KE 
дел, 6о75у6де==KE по Eт.Eт.131, 132, 133, 134, 135 'К  Ф 8 дDу78E. 
!т4тLO 131. И7=4E8ло64=8е 

1. �оло6ое E=оHе=8е 6опDек8 6оле потеDпе6Hе9 E пD8<е=е=8е< =4E8л8O 8л8 E у7Dо7о9 е7о 
пD8<е=е=8O к 6е=I8=е 8л8 ее 5л87к8< л85о E 8EполL7о64=8е< 5еEпо<оI=о7о EоEтоO=8O 
потеDпе6Hе9 (87=4E8ло64=8е) –=4к47K64етEO о7D4=8Gе=8е< E6о5одK =4 EDок до GетKDеE лет 8л8 
л8Hе=8е< E6о5одK =4 EDок от тDеE до Eе<8 лет. 
2. И7=4E8ло64=8е, Eо6еDHе==ое по6тоD=о, л85о 7Dуппо9 л8F, л85о л8Fо<, D4=ее Eо6еDH86H8< 
де9Eт68O, пDедуE<отDе==Kе Eт4тLе9 167 =4EтоOIе7о КодекE4, л85о 87=4E8ло64=8е 746едо<о 
=еEо6еDHе==олет=е9 – =4к47K64етEO л8Hе=8е< E6о5одK =4 EDок от пOт8 до тD8=4дF4т8 лет. 
3. И7=4E8ло64=8е 746едо<о <4лолет=е9 8л8 87=4E8ло64=8е, по6лекHее по =еоEтоDо6=оEт8 E<еDтL 
потеDпе6Hе9, л85о пD8G8=е=8е тO6к8E телеE=KE по6Dе6де=89, л85о 74D46е=8е �ИЧ, л85о 8=Kе 
тO6к8е поEледEт68O, – 

=4к47K64етEO л8Hе=8е< E6о5одK =4 EDок от 6оEL<8 до пOт=4дF4т8 лет. 
!т4тLO 132. �4E8лLEт6е==Kе де9Eт68O EекEу4лL=о7о E4D4ктеD4 

1. �у6ело6Eт6о, леE58O=Eт6о 8л8 8=Kе де9Eт68O EекEу4лL=о7о E4D4ктеD4, Eо6еDHе==Kе 6опDек8 
6оле потеDпе6Hе7о (потеDпе6Hе9) E пD8<е=е=8е< =4E8л8O 8л8 E у7Dо7о9 е7о пD8<е=е=8O л85о E 
8EполL7о64=8е< 5еEпо<оI=о7о EоEтоO=8O потеDпе6Hе7о (потеDпе6Hе9), – 

=4к47K64NтEO о7D4=8Gе=8е< E6о5одK =4 EDок до GетKDеE лет 8л8 л8Hе=8е< E6о5одK =4 EDок от 
тDеE до Eе<8 лет. 



2. &е 6е де9Eт68O, Eо6еDHе==Kе по6тоD=о, л85о л8Fо<, D4=ее Eо6еDH86H8< 87=4E8ло64=8е, л85о 
7Dуппо9 л8F, л85о 6 от=оHе=88 746едо<о =еEо6еDHе==олет=е7о (=еEо6еDHе==олет=е9), – 

=4к47K64NтEO л8Hе=8е< E6о5одK =4 EDок от пOт8 до тD8=4дF4т8 лет. 
3. �е9Eт68O, пDедуE<отDе==Kе G4EтO<8 1 8л8 2 =4EтоOIе9 Eт4тL8, Eо6еDHе==Kе 6 от=оHе=88 
746едо<о <4лолет=е7о (<4лолет=е9), л85о по6лекH8е по =еоEтоDо6=оEт8 E<еDтL потеDпе6Hе7о 
(потеDпе6Hе9), л85о пD8G8=е=8е тO6к8E телеE=KE по6Dе6де=89, л85о 74D46е=8е �ИЧ, л85о 8=Kе 
тO6к8е поEледEт68O, – 

=4к47K64NтEO л8Hе=8е< E6о5одK =4 EDок от 6оEL<8 до пOт=4дF4т8 лет. 
!т4тLO 134. �оло6ое E=оHе=8е 8 8=Kе де9Eт68O EекEу4лL=о7о E4D4ктеD4 E л8Fо<, =е доEт87H8< 
HеEт=4дF4т8лет=е7о 6о7D4Eт4 

1. �оло6ое E=оHе=8е, <у6ело6Eт6о, леE58O=Eт6о 8л8 8=Kе де9Eт68O EекEу4лL=о7о E4D4ктеD4, 
Eо6еDHе==Kе л8Fо<, доEт87H8< 6оEе<=4дF4т8лет=е7о 6о7D4Eт4, E л8Fо<, 746едо<о =е доEт87H8< 
HеEт=4дF4т8лет=е7о 6о7D4Eт4, пD8 отEутEт688 пD87=4ко6 пDеEтупле=89, пDедуE<отDе==KE Eт4тLO<8 
166 8 167 =4EтоOIе7о КодекE4, – 

=4к47K64NтEO о7D4=8Gе=8е< E6о5одK =4 EDок до GетKDеE лет 8л8 л8Hе=8е< E6о5одK =4 тот 6е EDок 
Eо HтD4Dо<. 
2. &е 6е де9Eт68O, Eо6еDHе==Kе л8Fо<, D4=ее Eо6еDH86H8< пDеEтупле=8O, пDедуE<отDе==Kе 
=4EтоOIе9 Eт4тLе9, Eт4тLO<8 166 8л8 167 =4EтоOIе7о КодекE4, л85о л8Fо<, =4 котоDое 6о7ло6е=K 
о5O74==оEт8 по 6оEп8т4=8N, EодеD64=8N, о5еEпеGе=8N 5е7оп4E=оEт8 687=8 8 7доDо6LO 
=еEо6еDHе==олет=е7о, л85о 7Dуппо9 л8F, – 

=4к47K64NтEO л8Hе=8е< E6о5одK =4 EDок от тDеE до деEOт8 лет. 
!т4тLO 135.  476D4т=Kе де9Eт68O 

1.  476D4т=Kе де9Eт68O, Eо6еDHе==Kе л8Fо<, доEт87H8< 6оEе<=4дF4т8лет=е7о 6о7D4Eт4, 6 
от=оHе=88 л8F4, 746едо<о =е доEт87Hе7о HеEт=4дF4т8лет=е7о 6о7D4Eт4, пD8 отEутEт688 пD87=4ко6 
пDеEтупле=89, пDедуE<отDе==KE Eт4тLO<8 132 – 135 =4EтоOIе7о КодекE4, – 

=4к47K64NтEO 4DеEто< 8л8 л8Hе=8е< E6о5одK =4 EDок от од=о7о 7од4 до тDеE лет. 
2. &е 6е де9Eт68O, Eо6еDHе==Kе E пD8<е=е=8е< =4E8л8O 8л8 E у7Dо7о9 е7о пD8<е=е=8O, – 

=4к47K64NтEO л8Hе=8е< E6о5одK =4 EDок от тDеE до HеEт8 лет. 
 �олLH8=Eт6о Dод8теле9, пед47о7о6 8 пE8Eоло7о6 5оOтEO о5Eу6д4тL те<у EекEу4лL=о7о =4E8л8O 
5олLHе, Gе< 6еDт64. � 5еEед4E E детL<8 о=8 =е 74д4Nт пD468лL=Kе 6опDоEK =4 Mту те<у, 4 8=о7д4 
8 =е EлKH4т, ко7д4 о=8 =4<ек4Nт 8< о Eо6еDHе==о< =4E8л88. � то 6е 6Dе<O, к4к пок47K64ет 
пD4кт8к4, д46е пD8 =4л8G88 о5Jект86=о9 8=DоD<4F88 6Eе 6=8<4=8е EоEDедот4G864етEO, к4к 
пD468ло, =4 пDеEтуп=8ке, то7д4 к4к 6еDт64 =у6д4етEO 6 пеD6уN оGеDедL 6о 6=8<4=88 8 
=ео5Eод8<о9 EоF84лL=о9, пE8Eоло78GеEко9 8 <ед8F8=Eко9 по<оI8. 
�D87=4к8 EекEу4лL=о7о =4E8л8O у дете9 8 подDоEтко6 

Ф878GеEк8е пD87=4к8: 
ОD4лL=Kе E8<пто<K: Mк7е<4, деD<4т8т, 7еDпеE =4 л8Fе, 7у54E, 6 Dото6о9 полоEт8, кDо<е Mто7о, 
<о6ет 5KтL отк47 от едK (4=оDекE8O) 8л8 =4о5оDот - пеDеед4=8е (5ул8<8O). 
�=4лL=Kе E8<пто<K: по6Dе6де=8O 6 пDO<о9 к8Hке, покD4E=е=8е 4=уE4, 64D8ко7=Kе 87<е=е=8O, 
оEл45ле=8е ED8=ктеD4, 74поDK. 
�478=4лL=Kе E8<пто<K: =4DуHе=8е де6Eт6е==о9 пле6K, D4EH8Dе=8е 6л474л8I4, E6е68е 
по6Dе6де=8O (D4=K, EE4д8=K), EопутEт6уNI8е 8=DекF88. 
КDо<е Mто7о, пD87=4к4<8 EекEу4лL=о7о =4E8л8O =4д Dе5е=ко< O6лONтEO: 
•         поD64==ое, 74п4Gк4==ое 8л8 окDо646ле==ое =86=ее 5елLе; 
•         7е<4то<K (E8=Oк8) 6 о5л4Eт8 поло6KE оD74=о6; 
•         кDо6отеGе=8O, =ео5JOE=8<Kе 6Kделе=8O 87 поло6KE оD74=о6; 
•         7е<4то<K 8 укуEK =4 7Dуд8, O7од8F4E, =о74E, =86=е9 G4Eт8 686от4, 5едD4E; 
•         5олL 6 =86=е9 G4Eт8 686от4; 
•         по6тоDONI8еEO 6оEп4ле=8O <оGе8EпуEк4телL=KE путе9; 
•         5оле7=8, пеDед4NI8еEO поло6K< путе<; 
•         5еDе<е==оEтL. 
И7<е=е=8O 6 по6еде=88: 
И7<е=е=8O 6 6KD46е=88 EекEу4лL=оEт8 Dе5е=к4: 
•         GDе76KG49=K9 8=теDеE к 87D4< EекEу4лL=о7о EодеD64=8O; 



•         поD478телL=Kе длO Mто7о 6о7D4Eт4 7=4=8O о EекEу4лL=о9 687=8; 
•         Eо5л47=ONIее, оEо5о 746лек4NIее по6еде=8е по от=оHе=8N к пDот86ополо6=о<у полу 8 
67DоEлK<; 
•         EекEу4лL=Kе де9Eт68O E дDу78<8 детL<8 (=4G8=4O E <л4дHе7о HколL=о7о 6о7D4Eт4); 
•         =ео5KG=4O EекEу4лL=4O 4кт86=оEтL: EекEу4лL=ое 8EполL7о64=8е< <л4дH8E дете9; 
<4EтуD54F8O (=4G8=4O E доHколL=о7о 6о7D4Eт4), от8D4=8е поло6KE оD74=о6 о тело 67DоEло7о. 
И7<е=е=8O 6 M<оF8о=4лL=о< EоEтоO=88 8 о5Iе=88 Dе5е=к4: 
•         74<к=утоEтL, 87олOF8O, уEод 6 Eе5O; 
•         депDеEE86=оEтL, 7DуEт=ое =4EтDое=8е; 
•         от6D4Iе=8е, EтKд,  68=4, =едо6еD8е, Gу6Eт6о 8EпоDGе==оEт8; 
•         G4Eт4O 74ду<G86оEтL, отEтD4=е==оEтL (6EтDеG4етEO у дете9 8 подDоEтко6, =4G8=4O E 

доHколL=о7о 6о7D4Eт4); 
•         8EтеD8GеEкое по6еде=8е, 5KEтD4O потеDO E4<око=тDолO; 
•         тDуд=оEт8 6 о5Iе=88 E Dо6еE=8к4<8, 875е74=8е о5Iе=8O E =8<8, отEутEт68е дDу7е9 E6ое7о 
6о7D4Eт4 8л8 отк47 от о5Iе=8O E пDе6=8<8 дDу7LO<8; 
•         отGу6де=8е от 5D4тLе6 8 EеEтеD; 
•         теDDоD878Dо64=8е <л4дH8E 8 дете9 E6ое7о 6о7D4Eт4; 
•         6еEтокоEтL по от=оHе=8N к 87DуHк4< (у <л4дH8E дете9); 
•         4<5864ле=т=Kе Gу6Eт64 к 67DоEлK< (=4G8=4O E <л4дHе7о HколL=о7о 6о7D4Eт4). 
И7<е=е=8O л8G=оEт8 8 <от864F88 Dе5е=к4, EоF84лL=Kе пD87=4к8: 
•         =еEпоEо5=оEтL 74I8т8тL Eе5O, =епDот86ле=8е =4E8л8N 8 87де64телLEт6у =4д Eо5о9, E<8Dе=8е; 
•         Dе7кое 87<е=е=8е уEпе64е<оEт8 (Eу6е 8л8 7оD47до луGHе); 
•         пDо7улK 6 Hколе, отк47 8 укло=е=8е от о5уGе=8O, поEеIе=8O уGDе6де=8O допол=8телL=о7о 
о5D47о64=8O, EпоDт86=о9 EекF88; 
•         пD8=Oт8е =4 Eе5O Dод8телLEко9 Dол8 6 Eе<Lе (по пD87ото6ле=8N едK, Eт8Dке, <KтLN, 
уE46864=8N 74 <л4дH8<8 8 8E 6оEп8т4=8N); 
•         отD8F4=8е тD4д8F89 E6ое9 Eе<L8 6EледEт68е =еEDоD<8Dо64==оEт8 EоF84лL=KE Dоле9 8 E6ое9 
Dол8 6 =е9, 6плотL до уEод4 87 до<4 (E4D4ктеD=о длO подDоEтко6). 
И7<е=е=8O E4<оEо7=4=8O Dе5е=к4: 
•         п4де=8е E4<ооFе=к8; 
•         <KEл8 о E4<оу589Eт6е, попKтк8 E4<оу589Eт64. 
�оO6ле=8е =е6Dот8GеEк8E 8 пE8EоEо<4т8GеEк8E E8<пто<о6: 
•         5оO7=L оEт464тLEO 6 по<еIе=88 =4ед8=е E опDеделе==K< Gело6еко<; 
•         5оO7=L D47де64тLEO (=4пD8<еD, <о6ет к4те7оD8GеEк8 отк474тLEO от уG4Eт8O 6 74=Oт8OE 
D87кулLтуDо9 8л8 пл464=8е<, 8л8 E=8<4тL =86=ее 5елLе — тDуE8к8 6о 6Dе<O <ед8F8=Eко7о 
оE<отD4). 
Ко=еG=о, 6KO686 у Dе5е=к4 к4ко9-л85о 87 Mт8E пD87=4ко6, =е Eто8т ED47у подо7Dе64тL =4E8л8е, =о 
еEл8  о=8 пD8EутEт6уNт 6 ко<плекEе, =4 т4ко7о Dе5е=к4 Eто8т о5D4т8тL 6=8<4=8е 8 дел8к4т=о 
D4EEпDоE8тL е7о о то<, Gто пDо8EEод8т 6 е7о 687=8. �Eл8 6е 64H8 оп4Eе=8O подт6еDд8л8EL, то 
=ео5Eод8<о ED47у 6е Eоо5I8тL о пDеEтупле=88 6 оD74=K 6=утDе==8E дел, 4 Dе5е=ку дол6=4 5KтL 
ок474=4 пDоDеEE8о=4лL=4O пE8Eоло78GеEк4O, <ед8F8=Eк4O 8 8=4O по<оIL.  
�Eл8 6е по<оIL =е ок474=4 6о6Dе<O, Dе5е=ок оEт4етEO од8= =4 од8= Eо E6ое9 пDо5ле<о9. 
�E8Eоло78GеEк8е тD46<K детEт64 ок47K64Nт E8лL=ое 6л8O=8е =4 6EN поEледуNIуN 687=L 
Gело6ек4, DоD<8Dо64=8е е7о E4D4ктеD4, 5удуIуN EекEу4лL=уN 687=L, пE8E8GеEкое 8 D878GеEкое 
7доDо6Lе, =4 4д4пт4F8N 6 о5IеEт6е 6 Fело<. 
ОEт4=о68теEL! О7лO=8теEL! 
 Oдо< E �4<8 <о6ет 5KтL Dе5е=ок, котоDK9 =у6д4етEO 8<е==о 6 �4Hе9 по<оI8& 

�DоD8л4кт8к4 пDеEтупле=89 пDот86 поло6о9 =епD8коE=о6е==оEт8 =еEо6еDHе==олет=8E. 
________________________________________ 

  

�Л�О И&� 

8=DоD<8Dо64=8O пед47о78GеEк8<8 D45от=8к4<8 Dод8теле9, опеку=о6, попеG8теле9 о5уG4NI8EEO 
8 (8л8) EотDуд=8ко6 оD74=о6 6=утDе==8E дел о =4л8G88 пD87=4ко6 =4E8л8O 6 от=оHе=88 
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�Dо5ле<4 74I8тK дете9 от 6еEтоко7о о5D4Iе=8O 8 =4E8л8O, 6 E8лу 8E =48<е=LHе9 74I8Iе==оEт8, 

=е теDOет 4кту4лL=оEт8. �KO6ле=8е =еEо6еDHе==олет=8E, Eт46H8E 6еDт6о9 =4E8л8O, =4DOду E 
EотDуд=8к4<8 теDD8тоD84лL=KE оD74=о6 6=утDе==8E дел (д4лее - О��), оEуIеEт6лOетEO 
пед47о78GеEк8<8 D45от=8к4<8 уGDе6де=89 о5D47о64=8O. 
�4E8л8е - лN54O DоD<4 6748<оот=оHе=89, =4пD46ле==4O =4 уEт4=о6ле=8е 8л8 удеD64=8е 
ко=тDолO =4д дDу78< Gело6еко<. 
�KделONт =еEколLко оE=о6=KE DоD< =4E8л8O: D878GеEкое, EекEу4лL=ое, пE8E8GеEкое. 
Ф878GеEкое =4E8л8е - пDед=4<еDе==ое =4=еEе=8е Dе5е=ку D878GеEк8E по6Dе6де=89, котоDKе 
<о7ут пD86еEт8 к E<еDт8, 8л8 6K7K64Nт EеDLе7=Kе, тDе5уNI8е <ед8F8=Eко9 по<оI8 =4DуHе=8O 
D878GеEко7о 8л8 пE8E8GеEко7о 7доDо6LO, 8л8 6едут к отEт464=8N 6 D4768т88; телеE=Kе =4к474=8O, 
=4=оEOI8е уIеD5 D878GеEко<у 8л8 пE8E8GеEко<у 7доDо6LN Dе5е=к4. 
�E8E8GеEкое (M<оF8о=4лL=ое) =4E8л8е - дл8телL=ое, поEтоO==ое 8л8 пеD8од8GеEкое 
пE8Eоло78GеEкое 6о7де9Eт68е, пD86одOIее к DоD<8Dо64=8N у Dе5е=к4 п4толо78GеEк8E GеDт 
E4D4ктеD4 8л8 =4DуH4NIее D4768т8е е7о л8G=оEт8. 
'к474==Kе де9Eт68O 6KD464NтEO 6 од=окD4т=о< 8л8 EDо=8GеEко< 6о7де9Eт688 =4 Dе5е=к4, 
6D46де5=о< 8л8 5е7л8G=о< от=оHе=88 к =е<у. �оEледEт68O 8E пD86одOт к E=86е=8N E4<ооFе=к8, 
утD4те 6еDK 6 Eе5O, DоD<8Dо64=8N п4толо78GеEк8E GеDт E4D4ктеD4, 6K7K64NI8E =4DуHе=8е 
EоF84л874F88. 
�E8E8GеEкое =4E8л8е по E6ое9 EуI=оEт8 O6лOетEO =485олее л4те=т=K<, т4к к4к Eло6=одок47уе<о 
668ду отEутEт68O 6=еH=8E Eледо6. 
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де9Eт68O EекEу4лL=о7о E4D4ктеD4 Eо 67DоEлK< E FелLN полуGе=8O поEлед=8< EекEу4лL=о7о 

удо6лет6оDе=8O 8л8 6K7одK. !екEу4лL=ое =4E8л8е 6клNG4ет к4к пDO<Kе EекEу4лL=Kе ко=т4ктK, т4к 
8 =епDO<Kе: де<о=EтD4F8O Dе5е=ку о5=46е==KE 7е=8т4л89, де<о=EтD4F8O поD=о7D4D8GеEк8E 
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поEDедEт6о< Eет8 И=теD=ет. 
'к474==ое =4E8л8е т4к6е O6лOетEO 6KEокол4те=т=K< O6ле=8е<, т4к к4к по D47л8G=K< пD8G8=4< 
(Gу6Eт6о 5оO7=8, EтKд4, 68=K 8 т.п.) Eт4лк864NI8еEO E EекEу4лL=K< =4E8л8е< дет8 Dедко 
о5D4I4NтEO 74 по<оILN. 
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ко<пете=F88. 
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пDот86оDеG86Kе, пут4=Kе о5JOE=е=8O 74ко==KE пDедEт468теле9 о пD8G8=4E 6о7=8к=о6е=8O 
тD46<K у Dе5е=к4; 
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7доDо6Lе Dе5е=к4, 5е7де9Eт68е 8л8 по7д=ее о5D4Iе=8е 74 <ед8F8=Eко9 по<оILN; 
=е4дек64т=4O оFе=к4 тO6еEт8 тD46<K, EтDе<ле=8е ее пDеу6ел8G8тL 8л8 пD8у<е=LH8тL; 
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EоEеде9, 8=KE 7D46д4=; 
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8=DоD<4F8O, поEтуп86H4O от <ед8F8=Eко7о D45от=8к4 уGDе6де=8O о5D47о64=8O. 
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(6 уEт=о9 DоD<е) о5 Mто< E6ое7о Dуко6од8телO 8 EпеF84л8Eт4 EоF84лL=о-пед47о78GеEко9 8 
пE8Eоло78GеEко9 Eлу65K уGDе6де=8O о5D47о64=8O. 
 уко6од8телL уGDе6де=8O о5D47о64=8O поEле то7о, к4к е<у Eт4ло 876еEт=о о пD87=4к4E (D4кте) 
=4E8л8O: 
=е74<едл8телL=о Eоо5I4ет по телеDо=у 6 упD46ле=8е (отдел) о5D47о64=8O, EпоDт4 8 туD87<4 
D49(7оD)8Eполко<4 8 О�� длO пD8=Oт8O <еD Dе478Dо64=8O, 6 тот 6е D45оG89 де=L л85о =е по7д=ее 
EледуNIе7о D45оGе7о д=O =4пD46лOет п8EL<е==уN 8=DоD<4F8N 6 ук474==Kе 7оEуд4DEт6е==Kе 
оD74=K; 
поDуG4ет пед47о7у-пE8Eоло7у уGDе6де=8O о5D47о64=8O пDо6еEт8 ко=EулLт4F8N (5еEеду) E 
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=е74<едл8телL=о 8=DоD<8Dует Dод8теле9, опеку=о6, попеG8теле9 о пD87=4к4E (D4кте) =4E8л8O 6 
от=оHе=88 =еEо6еDHе==олет=е7о, 6 EлуG4е еEл8 =4E8л8е 6 от=оHе=88 Dе5е=к4 Eо6еDHе=о Eо 
EтоDо=K тDетL8E л8F. 
!отDуд=8к8 О�� пD8 полуGе=88 8=DоD<4F88 от Dуко6од8телO уGDе6де=8O о5D47о64=8O: 
оEуIеEт6лONт 87уGе=8е 8 4=4л87 поEтуп86Hе9 8=DоD<4F88; 6 уEт4=о6ле==о< поDOдке пDо6одOт 
пDо6еDку по пDедEт46ле==о9 8=DоD<4F88. 
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